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KTG & Thermodynamics

31.  Work done by a Carnot engine operating between temperatures 127°C and 27°C is 2kJ. The amount of heat
transferred to the engine by the reservoir is:

127°C ©d 27°C droq =t & Heg BRIRG U hiAT goid gRT fohar T i 2k] 8 | 98K gRT ol I <f Tg & Bl

AT &
(1)8KkJ (2)4kJ (3)2kJ (4)2.67k]
Question ID: 7155054255
Option 11D : 71550513445
Option 2 ID : 71550513446
Option 3 ID : 71550513443
Option 4 1D : 71550513444
Ans.  Official Answer NTA (1)

‘ T,=400 K ‘
Q
V
Engine T—1>w

Sol.
Q,

‘ T, =300 K ‘

Efficiency of carnot engine

Tl Ql
W 300 1

> — = =
Q400 4

2kJ 1
o> =
Q 4
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Kinematics (Motion in a Plane)

2

32.  Thetrajectory of projectile, projected from the ground is given by y = x — % . Where x and y are measured in

meter. The maximum height attained by the projectile will be.

RIS | YA Y 70 Uersy & gt &l y=X—X—WmTTMT§,GﬁXQﬁyﬁE?ﬁWW§IH@W§WW

20

AAfApad SHars sl

(1) 1042m (2)200 m (3)5m (4)10m
Question ID: 7155054260
Option 11D : 71550513464
Option 2 ID : 71550513466
Option 31D : 71550513463
Option 4 1D : 71550513465
Ans.  Official Answer NTA (3)

2
X

Sol. y=x- 20

For maximum height,

Yooy

dx 20

x =10

SO, Y ax = 10—@ =5m

20
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Simple Harmonic Motion

33.  For particle Prevolving round the centre O with radius of circular path r and angular velocity o, as shown in
below figure, the projection of OP on the x- axis at time t is
TelRfd o & IgER 1 351 a1l vy R v T 0 9 & O & 9RI 3R g9 @ &1 P & forg, w9g t 'k OP @1
X- 3FeT TR YETT (YIoiad) & :

=0)
(1) x(t)=rcos(wt) (2) x(t)= rcos(wt - %(Dj
x(t) =rsin (mt + Ej x(t) = rcos(mt + Ej
3) 5 “4) 5
Question ID : 7155054253
Option 1 ID : 71550513435
Option 21D : 71550513436
Option 31D : 71550513438
Option4 1D : 71550513437
Ans.  Official Answer NTA (4)
1 cos {oot + E} _X
Sol. I R
X = Rcos{wt +£}wherew :2_75 = 2n T
6 T 6 3
_ t=t
bri\U 0
A
=<’
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COM, Momentum & Collision

34.  Abullet of mass 0.1 kg moving horizontally with speed 400 ms ™ hits a wooden block of mass 3.9 kg kept on
a horizontal rough surface. The bullet gets embedded into the block and moves 20 m before coming to rest.
The coefficient of friction between the block and the surface is
(Given g=10m/s?)
400 ms™ &1 =1 | &S fem # Ferh g5 0.1 kg SMM &1 U Tiell, Graw afis ddt W 9 3.9 kg w914 aret
APS! & Yedb F THIN & | TTetl, e § €9 SRl & Vd Hgad Mo v 9 Ugel 20 m Il 2 | Yo gd add &

dra &7 gy T 2l
(Given g=10m/s?)
(1) 0.90 (2) 0.65 (3)0.25 (4) 0.50

Question ID : 7155054261
Option 11D : 71550513470
Option 2 ID : 71550513469
Option 31D : 71550513467
Option4 1D : 71550513468
Ans.  Official Answer NTA (3)
Sol. By momentum conservation

0.1 x 400 =(3.9+0.1)V

V=10m/s

v:= u’+2as

O =10%-2as

2100100
40 400

pg=2.5
n=0.25

Units & Dimensions

35. Match List I with List I1
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List I List IT

A. | Torque I. | ML™T”

B. [ Stress II. [ ML°T”

C. |Pressure gradient .| ML™'T"

D. |Coefficient of viscosity IV.| ML'T?
Choose the correct answer from the options given below :
A L1 g [l & e fyems ax

I = 1T

A. |9 smepf I. | ML”T”

B. | ufdaa I | ML'T™

C. |s1@ wavrar 1| ML™T"

D. | zarar sonies IV.| ML'T"
A= fag g el # | w8 IR g -
(1) A-1V, B-II, C-III, D-I (2) A-II, B-1V, C-I, D-III
(3) A-II1L, B-1V, C-1, D-II (4) A-IL, B-1, C-1V, D-III

Question ID : 7155054252
Option 1 ID : 71550513434
Option 21D : 71550513433
Option 31D : 71550513431
Option4 ID: 71550513432
Ans.  Official Answer NTA (2)
Sol.  A.Torque =7 =rxF
[L][MLT? ]
=ML’ T?
MLT?

B. Stress= E = >
A L

[ stress ]=ML"' T
C. Pressure gradient = AP
AX

[F/A] MLT?
= =
[L] 5
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=M T?
D. Coefficient of viscosity = F = 6mnrv

MLT? =[n]L’ T

[n]=ML" T"

Electromagnetic Induction

36. Anemfof(.08 Visinduced in a metal rod of length 10 cm held normal to a uniform magnetic field of 0.4 T,
when moves with a velocity of :
0.4 T 5 vaaaH g 85 4, 859 & ogad 10 cm ol o difcass g 9 0.08 V &1 fagga ass a1 uRkd
AT &, 59 I8 9 9 9 T axall 2
(1)3.2ms™! (2)0.5ms™! (3)20 ms™! (4)2ms!

Question ID : 7155054269

Option 11D : 71550513502

Option 2 ID : 71550513501

Option 31D : 71550513499

Option 4 1D : 71550513500

Ans.  Official Answer NTA (4)

B
X X X X
X X T X X
X X X X
Sol. [ v
X X X X
X X X X
X X X X

Induced emf= Blv

= 0.08= 0.4(£jv
100

(0.08)(10
= V=

) =>v=2m/s
0.4
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Dual Nature of Radiation & Matter

37.  Inphoto electric effect
A. The photocurrent is proportional to the intensity of the incident radiation.
B. Maximum Kinetic energy with which photoelectrons are emitted depends on the intensity of incident light.
C. Max. K.E with which photoelectrons are emitted depends on the frequency of incident light.
D. The emission of photoelectrons require a minimum threshold intensity of incident radiation.
E. Max. K.E of the photoelectrons is independent of the frequency of the incident light.
Choose the correct answer from the options given below :
(1)Aand C Only (2) Band C only (3)Aand E only (4) A and B only
TeHTeT dggd yHE |
A. UBTeT 91T, A BT @1 e & TgepArguT Bl © |
B. {51 a1firepad st o1l | UPRI Seldagiv Scafoid 8l ©, a8 MR TPIRT B diigal WR iR Prall 2 |
C. R rfaepe TfisT Hoil | YBTeT Selds = IcAfoid 8l o, g8 AT YehTel BI AT TR R Pl 2 |
D. UHT Seiag [l & Scauid @ forg mufira fafdxor o ga Tg7aw <gell digdm mawad gl 2 |
E. UG etagial &) rfrdad Tfist Soff, mufad Uabrer & amgfy o R 81 axalt |
I fav Y fdeedl § ¥ He SR g ¢
(1) daa Awd C (2) #9at Bua C (3)@daad AT E (4) daa Avd B
Question ID : 7155054266
Option 11D : 71550513489
Option 2 ID : 71550513488
Option 31D : 71550513490
Option 41D : 71550513487
Ans.  Official Answer NTA (1)

Sol.  Intensity of light oc number of photons o no of photo electrons « photo current
So, Ais correct

KE, =hv-¢

KE__ dependson frequency
So, C is correct

So, A and C are correct
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Fluid Mechanics

38.  Ahydraulic automobile lift is designed to lift vehicles of mass 5000 kg. The area of cross section of the cylinder

carrying the load is 250 cm?. The maximum pressure the smaller piston would have to bear is [Assume g= 10

m/s?|

TE Egslford sifcmEgd forge & 5000 kg o0 d& & dre-l & I8M & oy a1 17 & | ¥R SO dret def
DI UL BIC BT &=hel 250 cm? 2 | fueTaRd Bic fUve gIRT 9§08 S [ arell 3ffda &4 & [791 g = 10 m/s?]:

(1) 200 x 10** Pa (2)20 x 10*° Pa (3)2 x 10" Pa (4)2 x 10" Pa
Question ID : 7155054256
Option 11D : 71550513449
Option 21D : 71550513447
Option 3 ID : 71550513448
Option 4 1D : 71550513450
Ans.  Official Answer NTA (4)

F mg 5000x10 6 2
pot_mg_ 0001V 105N/ m?.
Sol. A A 250x10°

X-Rays

39.  The waves emitted when a metal target is bombarded with high energy electrons are
(1) Microwaves (2) Infrared rays (3) X-rays (4) Radio Waves
Jod Sl dTel Selagial &l AN s el TR HR F Iford g avil 2 ¢
(1) g&q o= (2) arare favor (3) X-fepzot (4) 3fear o=

Question ID : 7155054268

Option 11D : 71550513497

Option 21D : 71550513496

Option 3 ID : 71550513498

Option 4 1D : 71550513495

Ans.  Official Answer NTA (4)

Sol.  Xraysare emitted when target metal is bombarded with high energy electron.
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Gravitation

40.  The orbital angular momentum of a satellite is L, when is revolving in a circular orbit at height h from earth
surface. Ifthe distance of satellite from the earth centre is increased by eight times to its initial value, then the
new angular momentum will be-
gedl 1 ¥ h SaTg WR gRirg HETT H URHHTT PR I8 U SUUE BT HEl BIVIg WaT L 2 | I gedll & Pwa A IUUS
B g P 3HD YRS A BT NS AT 9T QAT WA, T AT DI HART B
(1) 8L (2)3L (3)9L (4)4L

Question ID : 7155054258

Option 1 ID : 71550513457

Option 21D : 71550513455

Option 3 ID : 71550513458

Option4 ID : 71550513456

Ans.  Official Answer NTA (2)

Sol.

Lo r?
Now distance from centre is increased by 8 times.
So new distance from centre =r + 8r =9r

Now angular momentum L' o (9r)"2

L r1/2 1
T
L'=3L
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Nuclear Physics

41.  Aradio active material is resuced to 1/8 of its original amount in 3 days. If 8 x 10~ kg of the material is left after
5 days the initial amount of the material is
D13 eaefacg ygref 3 fam # gcax U+l ardfdd A3 &1 1/8 ¥R 38 e & | af} 5 f3F arg 8 x 103 kg uysref q=ar
2, A1 yarial URfMSE AT B
(1)40¢g (2)32¢ (3)64 ¢ (4)256 ¢

Question ID : 7155054265

Option 11D : 71550513484

Option 2 ID : 71550513483

Option 3 ID : 71550513486

Option4 1D : 71550513485

Ans.  Official Answer NTA (4)

Sol. Tl =1days

2
1 5
m, x—=8x10
32

m, =32x8x107 =256gm

Communication Systems

42.  The powe radiated from a linear antenna of length / is proportional ot (Given, A = Wavelength of wave) :
[ r+a1d ATl R Y& fer & ufya g3 fafeeor wite e & srgsheronh Bl @
(faar 8, A =TT &1 TR
m @5 (5] @)

A A A A

Question ID : 7155054263

Option 1 ID : 71550513478

Option 21D : 71550513475

Option 3 ID : 71550513477

Option4 ID : 71550513476

Ans.  Official Answer NTA (3)

f 2
Sol.  Powerradiated from a linear antenna of lenght £ o (Xj
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KTG & Thermodynamics

43.  Thetemperature at which the kinetic energy of oxygen molecules becomes double than its value at 27°C is

T8 AT, T TR SISt Fopail Bl TTferst Hofl &l A1 I 27°C A9 UR RIS SHofl & A BT &IT & SITe],

qER :

(1) 627°C (2) 927°C (3) 1227°C

Question ID : 7155054254
Option 11D : 71550513440
Option 21D : 71550513441
Option 31D : 71550513442
Option 41D : 71550513439
Ans.  Official Answer NTA (4)

f
Sol.  Kinetic energy = —kT, T is absolute temperature.

2
If K!is kinetic energy at 27°C.

K, iskinetic energy at new temperature T.

K, T, 1 300

—_—— = —=—
K, T, 2 T
T=600K
T=327°C

Current Electricity

(4) 327°C

44.  Theequivalent resistance between A and B as shown in figure is :

uelRid o § Avd B & 419 &1 o ufcRiy 2

C

10k Q

OB

AO MW MWV D MWWy

20k O 20k QO

(1) 10 kQ (2) 30 kQ (3) 5kQ

Question ID : 7155054271

Option 11D : 71550513508
Option 2 ID : 71550513510
Option 31D : 71550513507
Option 4 1D : 71550513509

(4) 20 kQ
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Ans.  Official Answer NTA (3)

WW——O B

AO AAAA C AMMW— 10 kQ
YVvy
Sol. 20k |20 kKQ D
V, =V,
Vc = VB
10 kKO
20 kQ
AD WA B.C
20 kO

All resistors are in parallel. So,
1 1 1

LIRS S
R, 10 20 20

R, =5kQ.

Semiconductors

45. For agiven transistor amplifier circuit in CE configurationV . =1V,R_.=1kQ, R, =100 kQ and = 100.

Value of base current I, is

fay 7Ty gifSex yaefe uRuer @ CE (S¥afiw scasia) siffawma 4, V.= 1 V,R = 1kQ,R, =100 kQud p =

100 & e eI, b7 I &

(1)1, = 100 pA )L, =1.0pA ()L, =10pA (4)1,=0.1 pA

Question ID : 7155054264
Option 11D : 71550513482
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Option 21D : 71550513481

Option 3 ID : 71550513480

Option 4 1D : 71550513479

Ans.  Official Answer NTA (3)

Sol.  For saturationregion V. —0

Ve = vee—iRe =1—(i0)(1000) = 0 = i. =ImA

. i _1ImA
=—==——=10pA
BT 00
i

) ) R, =1kQ

1B
R;

Ve = 1volt
i T
Gravitation

46.  The acceleration due to gravity at height h above the earth if h <<R (Radius of earth) is given by
Ife h << R (g1 1 =), gl 9 h $a1E W [RHcdid @=oT 8N

2h h’ h 2h?
(1) g'=g(1—EJ ) g'=g[1—2RzJ 3) g'=g(1—§J 4) g'=g[1— Rz j

Question ID : 7155054257

Option 1 ID : 71550513451

Option 21D : 71550513453

Option 31D : 71550513452

Option4 ID : 71550513454

Ans.  Official Answer NTA (1)

Sol. (R+H)’ (thz R
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Wave Optics

47.  The width of fringe is 2 mm on the screen in a double slits experiment for the light of wavelength of 400 nm. The
width of the fringe for the light of wavelength 600 nm will be :
fgferd v #, 400 nm TR & bTer & oy ud wR -yt st 1 @rers 2mm 2 | 600 nm TRITQEd arel YT &
forg fibot =iers el
(1)4 mm (2)3mm (3)2mm (4)1.33mm

Question ID : 7155054267

Option 1 ID : 71550513493

Option 21D : 71550513492

Option 31D : 71550513491

Option 4 ID : 71550513494

Ans.  Official Answer NTA (2)

Sol.  Fringe width (B) = DTK
B M
Bl }\'1
B, _600nm _3
2mm  400nm 2
=B, =3mm
Magnetism & Matter
48. Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Electromagnets are made of soft iron.

Reason R : Soft iron has high pemeability and low retentivity.

In the light of above, statements, choose the most appropriate answer from the option given below.
(1) Ais correct but R is not correct

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Both A and R are correct and R is the correct explanation of A

(4) Aisnot correct but R is correct

I < U AU U 8, TP BT AfMHAT A Ud R BT BRI R T/ T 2 |

arfaer A : faggagrae =F @i @l a1 B8Rt £ |
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FHRUTR : 79 Al # g g eiierdr ud e gRoreierdr gl 2
Suer Bl B wAeH H, A fQy U et ¥ W wel SR g ¢
(1) A9 8 g R 7 &
(2) Atd R 3l W& € dem A ) 9! @ren R 78 @
(3) Awd R el @€l € der Al WEl TR 8
(4) AT € g R |81 &
Question ID : 7155054270
Option 1 ID : 71550513505
Option 2 ID : 71550513504
Option 31D : 71550513503
Option4 ID : 71550513506
Ans.  Official Answer NTA (3)
Sol.  Electromagnets are made of soft iron because it has high permeability and low retentivity.
So, Both A and R are correct and R is the correct explanation of A

Electrostatics

49.  Electric potential at a point 'P' due to a point charge of 5 x 10°C is 50 V. The distance of 'P' from the point

1 N ~
charge is: (Assume, 7——=9x10 "Nm’C™y
ne,

5 % 10°C gret fdg amaer & sror, fag 'P' o fagyga fwa 50 V 2| fig P o) fig smawr 4 g0t 2

=9x10”Nm*C™
(T, dne, )

(1)3cm (2)9cm (3)90 cm (4)0.9cm
Question ID : 7155054262
Option 11D : 71550513472
Option 2 ID : 71550513473
Option 3 ID : 71550513471
Option 4 1D : 71550513474
Ans.  Official Answer NTA (3)

_kq
r

Sol. v
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~9x10”x5x107
r

=50

:>ri:O.9m
10

r=0.9x100=90cm

Kinematics (Motion in a Straight Line)
50. Given below are two statements :
Statement I : Area under velocity- time graph gives the distance by the body in a given time.
Statement II : Area under acceleration- time graph is equal to the change in velocity - in the given time.
In the light of given statements, choose the correct answer from the options given below.
(1) Statement I is correct but statement Il is false.
(2) Statement I is incorrect but Statement I1 is true.
(3) Both Statement I and Statement II are False.
(4) Both Statement I and Statement II are true.
RICICUC PR R CR I
P 1 : T 9T AT S A BT &AW, TR §RT 19T TC I H BT T3 X Pl YaRIT PRl ¢ |
FU 11 : TROT 9 ARG & 11 BT &, 3T T G797 § o7 # gQ gRad &l UeRid v 2 |
IWYFd B P Had H, 9 Qg MY faweni #§ | F9ii¥e Iugth SR g ¢
(D) P & U] 1 7Terd & |
(2) PU 1 39 & W b [ 9 2 |
(3) w1 vd w11 <1 o e & |
(4) Tl vd HeA Il <Ff 9 2|
Question ID : 7155054259
Option 11D : 71550513461
Option 2 ID : 71550513462
Option 31D : 71550513460
Option 4 1D : 71550513459
Ans.  Official Answer NTA (2)
Sol.  Areaunder velocity time graph gives displacement of body in given time.
Area under acceleration time graph gives change in velocity in the given time.

So Statement I false
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Statement Il True

Waves on String

51. A guitar string of length 90 cm vibrates with a fundamental frequency of 120 Hz. The length of the string

producing a fundamental frequency of 180 Hz will be cm.
90 cm &1 T FIeR &7 aR 120 Hz &1 Ge¥d aRT & |1 &la &l & | 180 Hz Jervd IRy & 3= & &
foq IR & 3nawad TR cm 81T |

Question ID : 7155054272
Ans.  Official Answer NTA (60)

Sol. f= ﬂ,for fundamental mode n =1

LI

2
f, ¢
120_¢4,
180 90
{, =60cm
Geometrical Optics
52.  Two transparent media having refractive indices 1.0 and 1.5 are separated by a spherical refracting surface of
radius of curvature 30 cm. The centre of curvature of surface is towards denser medium and a point object is
placed on the principle axis in rarer medium at a distance of 15 cm from the pole of the surface. The distance

of'image from the pole of the surface is cm.

1.0 7d 1.5 araaci-ics dTel &1 ke Aregd, 30 cm 3531 aTel MR uacdd a8 & R Udh—qay | T 8l 1

2| U3 BT Iehall B8 o AIeTH B R 8, Td U favg awg, fORer Area 4, g2 o1t W fvroe a1 & ga 9 15
MBI PRI g feaa s ga e ar g )

Question ID : 7155054278

Ans.  Official Answer NTA (30)
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R=30cm
po=1 =15
Object
[ J
Sol. «— )
15 cm
K BB
vV u R
LS 1511
v -—15 30 60
1511
v 15 60

s 1 1 -1

Vv 60 15 20
£=—L:>V=—3OCII1
\% 20

Capacitance

53.  A600pF capacitor is charged by 200 V supply. It is then disconnected from the supply and is connected to
another uncharged 600 pF capacitor. Electrostatic energy lost in the processis  uJ
600 pF arel va |emRa #1200 V & Fd & 3mafdid far S 2 | fiR 390 & 9 ger fear orar 2 &R fsd g
600 pF g1Rar arel SMARIT |emRa ¥ Sirs a7 ST 8 | 39 Ufshar 3 Rer 9gga oot § &9 uJ @1 8nfi|

Question ID : 7155054276

Ans.  Official Answer NTA (6)

Sol. U, =%(600)x10’12(200)2 1o

U, = %(1200) x107'2(100)* = 6pJ

Loss=U, -U; =6pl.
Alternating Current

54.  Aseries combination of resistor of resistance 100€2, inductor of inductance 1H and capacitor of capacitance

6.25 pF is connected to an ac source. The quality factor of the circuit will be
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1002 aret ufcRie, 1H URebed dTel URe Td 6.25 pF e1Rar arel |Hemia &1 soflag |aier B gearard! S 9 gsT
2 | gRyer T Iora oM BN |
Question ID : 7155054279
Ans.  Official Answer NTA (4)

Sl ﬁ_;XL_L\E_L LT,
o4 R T Jic R R\NC 100V625x10°

Current Electricity
55.  The number density of free electrons in copper is nearly 8 x 10*m=. A copper wire has its area of cross
section =2 x 10°m? and is carrying a current of 3.2 A. The drift speed of the electrons is x 10°ms!

dfd o Heh gelagiHl BT AT Tcd T 8 x 10 m~ 8 | dfd &1 Yo aR ST gy dre ampet =2 x 10-m?
2 d I 3.2 A ®l ORI yaTfd 81 e & | geldeial dTguET < 10°ms g |

Question ID : 7155054281

Ans.  Official Answer NTA (125)

Sol. n=8x10%m>

Area=2x10"°m?

I[=32A
I=neAv,
1 6
= ——=125x10" m/s
ne
Magnetic Field & Force
56.  Theratio of magnetic field at the centre of a current carrying coil of radius r to the magnetic field at distance r

from the centre of coil onits axisis ./x :1. The value of x is
1 P30T aTell IR ell & B W DI &7 B, Hsell D e W 50D s I 1 W W DY &3 I 3Gud Ly -
Tl X®AE 2

Question ID : 7155054280

Ans.  Official Answer NTA (8)
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°
Sol. d=r B,

Magnetic field at centre (B,) = P;—OI
r

Magnetic field on axis = “O—Irzm
2r (r2 + dz)
Value of d=r (given)
|
B2 = 4P\l/05r
B _ml 42 _2V2_V8
B, 2r pl 1 1
x=38
Rotation
57.  Ahollow spherical ball of uniform density rolls up a curved surface with an initial velocity 3 m/s (as shown in
figure). Maximum height with respect to the initial position covered by it will be cm

(take, g= 10 m/s?)

DS WFell THEAM Bcd alell MR e, fhe a6 Te W 3 m/s & URMIE 97 I geadl g8 ded! § | g &1 URM®
SIARRAT & AU §AD GRT TF B TS IIAFHTH Sars cm gl (3f, g =10 m/s?) |

Question ID : 7155054274
Ans.  Official Answer NTA (75)

o— S
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Sol.

2

2
mgh =lmV2 1+k—
2 R

2
h=V—(1+g):—X—=§m=75 cm!
2g 3

COM, Momentum & Collision

58.  Abody of mass 5 kg is moving with a momentum of 10 kg ms™!. Now a force of 2N acts on the body in the
direction of its motion for 5 s. The increase in the Kinetic energy of the bodyis  J.
5 kg e &1 33 fuve, 10 kg ms™' & T & TRY &% 8T & | 16U 39 W 2N &7 9, T o) fem § 5 s & forw
IR e g s A A Sefdgs gl T&|

Question ID : 7155054275

Ans.  Official Answer NTA (30)

Sol.  New momentum =20 kg m/s
Change inK.E. =30J.

Thermal Expansion

59.  Asteel rod of length 1 m and cross sectional area 10-*m? is heated from 0°C to 200°C without being allowed

to extend or bend. The compressive tension producedintherodis  x 10*N. (Given Young's modulus of
steel =2 x 10"Nm 2, coefficient of linear expansion = 10°K™")

1 m &1 Ta 1074 m? 3rguRer FIe &=l dTell U ¥iel &1 B Bl 41 JaiRd 8¢ wd fa=r g, 0°C 3 200°C & T
fPar ST g 1 B A ST AU @ w1 AF < 10*N 2 (feam 8, =&ra &1 I qonie =2 x 10''Nm 2, v&a

TR orids = 10K ) |

Question ID : 7155054273

Ans.

Sol.

Official Answer NTA (4)
Stress=Y x strain
Stress =Y x %

Lo AT
X

=Y =YoAT

Compressive Tension = Stress x Area of cross section

= YAoAT =4x10*N
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Atomic Structure

60.  Theratio of wavelength of spectral lines H and H, in the Balmer series is % . The value ofx is

X

WWﬁHawHBWﬁT%@Tﬁzﬁmﬁwfmaﬂwzo

21 x BT A =

Question ID : 7155054277
Ans.  Official Answer NTA (27)

P 2 2

1 1 1
Sol —=R[ }forH—atom
' n, n,

For balmer series,n, =2

L[t
A 4 n;

ForH, ,n, =3
Hg,n, =4

L[l
W L4 9] 36

LZR[LL}J_R
Do, 4 16/ 16

>
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